E3-745

Precision Ball Screws Standard Nut - Shaft Dia. 20, Lead 5, 10, 20

Accuracy Grade C5, C7

: Points of comparison between similar products | Consider using this product if the usage environment is a high-load, and high-frequency drive application.

5 T = A Part Unit Price 1 ~ 4 pc (s).
A Shaft crew Sha u ccurac! al
NutType [ Type (SEEIEWY) S Load [ o o T Y L200 | L250 | L300 | L401 | L601 | L701 | L801 | L996 |L1001 L1201 | L1301 | L1496
[H] V] [H] Grade [ Number
- - ~249 | ~299 | ~400 | ~600 | ~700 | ~800 | ~995 | ~1000 | ~1200 | ~1300 | ~1495 | ~1500
Stendard Nut |— 222 il 20 510,20 | Agatso |MucinHacened) ooy | Carburized
BSSE c7 s 58~62HRC 58~62HRC C5 |BSS2005 - - - -
(®Ball bearings will fall out if the ball nut crosses the wrench flats. C7 |BSSE2005 - - - -
C5 |BSS2010 -
C7 |BSSE2010 -
C5 |[BSS2020 -
BSS, BSSE2005 €7 |BSSE2020 -
48
% gz _ £ Ordering ‘ Part Number‘ - ‘ L ‘
= gg ?i M6x1.0 (Ol Inlet) Example BSS2005 - 820
j’- "Do"j s 5 @BSSE2010L - 1000 (LType Greased)
ZI\ Ro3orless i R0.3 or less o3 < O % Q) es3 @BSSE2010G - 1000 (6 Type Greased)
o - ~
| 7, s & . $
e | =2 N
1S s 72 - IS ENotes
T | WW/ = 3 (®Filled with lithium soap based grease (Alvania Grease S2 made by Showa Shell Sekiyu K.K).
s /| N N (®Cautions:Do not let the nuts overrun or remove the nuts from the screw shafts. It may cause the balls to fall out or damage the ball
co5 || €5 .. €05 05| C0.5 >@ recirculation parts.
1.15 21 m— VR (®Various grease options are available. For price and specifications, Z=5"P686
10.15 "0’ 2-Seal 5 5] |10 15 A066Through (®For accuracy of Ball Screws, see P.2223 and P.2224.
12 ¥ (Nut Motion Range) 60 20 \ M50 011 Gounerhre Dep 6.5 (®For details of Support Units, see P.753 ~ P.778. . A
L 40 (®)Use one of the support unit accessory collars on the fastening nut side.
Arrow View X-X
] _ L]~ o Kemete)
BSS. BSSE2010 ‘ &5_| Aterations BSS2020 - 850 - KC10
65 Alterations Code Spec. Alterations Code Spec.
50 No Machining on Support Side Shaft End Tapped Hole on Support Side Shaft End Adds a tapped hole on the support side shaft end.
= M6x1.0 (Oil Inlet) — MC=1mm Increment
3 g8 No machining added on the support side shaft end. SCERR MC25
o Tz = ‘ ‘ NC NG 21l 70.15 mMcC M 2 (DY dimension is shortened.
= — o2 © M6x1.0
o RO0.3 or less = = T < g@/ = @ 059 L MC ®21=NC=30
| — < 7 il N >< 3 5 "
P } o ﬂm S « / X Ball Nut g:;sﬂr:gﬂgn Ff:lg':i? Kgyway e Sldg il Adds a keyway on the fixed side shaft end.
S3 ) 2 s @:[bb RLG | Changes the nut direction R ey W T T A Ke | Ke=tmm increment
© e N L i RLC () KC15
= o5 7§\ co5| cos5 \< A 2 674 Revised ﬂé]:@):ﬁ KC (®4<KC<19
€0.5 : +0.14 ’ ’ >
115 o @ /@ No Retaining Ring Groove on o " 8 Keyway on Fixed Side Shaft End i
g Retaining ring groove is not machined on the Adds a keyway at a customer specified area on the
10.15 " 5-Seal ‘ 15 %‘3/00/ 4-06.6 Through Support Side Shaft End ANG | e e ) KLC &x%d: ?Ircrlﬁn slnne::f:eerggtheyway dim. is same as KC.)
" Y (ot oton Range 5 20 N s 01 Caterore Degh 65 - e s s
L 46 (®Combination with FC is not available. (®5<K+5<19
Arrow View X-X Change Support Side Shaft End Length Changes the length of the support side shaft end. Flat Machined on Fixed Side Adds a flat on the fixed side shaft end.
Cl:]: FC=1mm Increment Shaft End N ey a—— .
BSS, BSSE2020 s FC | (fimiren %JE SC | Gergeom SC7
70 _FC_| @)Y dimension is shortened. S 05 ©5s5C<19
S9 y is selectable from 10, 12 and 15. : 90° Position : 120° Position
R g3 ?j: M6x1.0 (Qil Inlet) Ei: GC | G=1mm Increment (®)Y dimension is shortened. S & g\gg 1mm Increment
- s by = = 6 6C-010-G20 SWC20
= I\ R03 orless s = RO.3 or less =3 059 526003 I 051 _|05 @5=SWC, SGC=19
= B I
<o | ﬂ s & .P iph Is: Combinati f the followi rs i ilabl Support Units Support Side
ggl ! &78) . eripherals: Combination of the following parts is available.
" g © S Nut Bracket
. | W
& Nz -
€05 C°-51 15 #01 €05 05| €05 074 R, oe ® Support Units Fixed Side
. 0 —
+0.1 X = X B
10.15 o 2-Seal 8 5/ 110 |15 % Support Units - Square Support Units - Round Nut Brackets - Block Type
12 Y (Nut Motion Range) 63 20 |\ M15x1.0 " pne.
L pE—— llCombination with Support Units lCombination with Nut Brackets
TOW ViIew X-
Ball Screw Part Number Recommended Support Unit Ball Screw Part Number|Recommended Nut Bracket
- - Screw Part Number Fixed |Support Screw Part Number
Nut Type | Accuacy Part Number fmmincrement| | Ball |BalCenter| Screw | Number |Basic Load Rating| Axial | Precad | Tisting Tvpe Isnatton. L2389 [Tqyne [ No. | S'@PC | side | Side | 29° TvPe Isiton.| 1239 06 | No. | F29°
Grade haft 0.0, Dia. Dia. | Root Dia. | of Circuits i i Play | TorqueN-cm | Direction : .
= 'Bl')g;e ScrewShaft00.| Lead L C (Dynamic) kN | Co (Static) kN — t 3(’)‘1 - BRW 15 " @) P767 e 05 g“:::th 20055 | P780
005 or Less| 3.0 or Less
o7 | BssE 05 (200-1000 | L-62 | 8175 | 208 | (175) |, 835 | 175 BSS | o | 95 [LBUR | 15 O | P768  goor | 20 | 10 | BNpR [2010S| R780
sl : = BSSE BSW 15 O P761 20 BNFA |2020S| P780
1 row 20 Square - -
Standard c5 BSS 20 10 |250~1500| L-95 (16) 135 25.1 0005 orLess| 4.0 or Less Right BUN 15 1 O P762  ®O0ther than the part numbers shown above, a wide variety of Nut Brackets
Nut c7 BSSE 0.030 or Less - - - - - are also available. (P.780)
47625 21 (®0ther than the part numbers shown above, a wide variety of Support Units are also available. (P.761~P.778)
C5 BSS 20 | 250-1500] L-95 (15.9) 1.5 turns, 9.2 16.2 0005 or Less| 4.0 or Less
Cc7 BSSE | drow ) ©|000orless| -

Kgf=Nx0.101972

E-746



